Oéua A
ALl.
1.x
2. N\
3. A
4. %
5. A

A2. Oewpla
A3.

K<-1

600 K <= 100 enavéiape
AL&paoce A[K]
K<-K+ 1

Télog_enavdéAnyng

A4.

o kw0
MMM ==

A5.

Epyoldpevog, latpdc
ADM, ovoua, ETWVLHO
MéBodoc (evépyela)
Mtépuya
[MoALVOPYLOLOC

gk



©éua B

B1.
1. X
2.2
3. ToéLv
4. Yeudncg
5 X

B2.

Tia ¢ amd 2 péxptL 200
Tia x and 200 péxpt ¢ pe_PARpa -1
Av A[k,x] < A[x-1,k-1] téte
B <= Alxk,x]
A[x,k] <= A[x-1,x-1]
Alx-1,x-1] <= B
Télog_av
Télog¢_enavaAnyng
Télog_enavdéAnyng

Oépa I

Npéypappa O&pal

MetafAntég
OpaypattkéEQ: uey, abpoloupo, PBab[8], TEALKOG, €AXXLOTIN, HEYLOTIN
AREPALEG: €KIOG, MOONTEC, K, OUUHPETOXEQ
XopaKkTHpPeEG: OVOUX

Apxq

pey <- -1
gxtog <- 0
pobntec <- 0
Apxf_enavainyng
ALapace ovoua
Av ovopa <> '#' téte
abpotopa <- 0
ouppetoxec <- 0
pobnrtec <- pabnrteg + 1
Tia x and 1 péxpt 8
AvLapoaoce Rab[x]
Av Bab[k] > -1 1éT1E
ouppetoxeg <- ouppetoxec + 1
abpolopa <- abpolopa + Bab k]
Av ouppeToxeg = 1 1éte
ghoxLotn <- Bab[k]
peviotn <- Bablx]
AAALQQC
Av Bab[k] < glaxlotn tdéTe
cehaxlotn <- PBab[x]



Télog_av
Av BaB[k] > upeyLotn téte
pneytotn <- Pab[xk]
TéAog_av
Télog_av
Télog_enavaAnyng
Av ouppetoxeg >= 5 1éte
TeALlkKOC <- (aBpoilopa - gAaxLotn -peyLotn) /
(ouupetoxeg - 2)
AAALQQC
TeAlkog <= 0
€KTIOC <- gKTOC + 1
TéAog_av
Av TeAlKOG > ugy téte
ney <- TEALKOCQ
Télog_av
Télog_av
MéxpiLg_oétou ovoua = '#'
Av pobnteg > 0 téte
Tpaye extog / pabnieg, uey
Télog_av
TéAog_npoypdppatog

Oéua A

Twa X andé 1 péxpt 10
Avé&Bace ovoua[X]
Tia Y and 1 péxpt 10
Av X > Y 161e
AL&poaoce O[X,Y]
O[Y,X] <- ®[X,Y]
Télog_av
TéAog_enavdaAnyng
Télog_enavdaAnyng

pog <= -1
Tia X amd 1 péxptr 10
olrol [X] <= 0
Tia Y amd 1 péxpt 10
Av X <> Y 16t1e
olAoL [X] <= @ldol[X] + @[X,Y]
Télog_av
Télog_enavaAnyng
Av pilot[X] > pof tdé1E
noé <= oldol [X]
Télog_av
Télog_enavdaAnyng
Tia X amd 1 péxptr 10

Av @iAoL[X] = paé tdéte
Tpaye Svoua[X]
Télog_av

Télog_enavdaAnyng

Loxuel <— QAn6/c



Tia X and 1 péxptr 10
Av iAol [X] = 0 1oé1e
Tpaye ovoua[X]
Loxuetl <- Yeudng
Télog_av
Télog_enavdAnyng
Av Loxuel 16T1E
Tpage 'OAoL glxoav €0Ttw KoL éva @lAo'
TéAog_av

Tia (1 andé 1 péxpt 10
Tia (2 and (1+1 péxpt 10
xolvol <= 0
Tia Y and 1 péxptr 10
Av (1 <> Y ol (2 <> Y toéte

Av &[(1,Y] = 1 roat @[2,Y] = 1 té1e
xolvol <- xoitvo{ + 1
Télog_av
TéAog av

Téhog_enququqg
Tpaye 'ZeGyog ',ovopo([ll],
xolvol @ldot'
Télog_enavdéAnyng
Télog_enavdaAnyng

-',ovopa[C2],"':"', xoLvol,



